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Andreas Kainrath -10,3 154 164,3 1 1 1 1 1 1 1 1 1 1 1 1|1 11 1
Christoph Schorn 40,9 123 82,1 1 1 1 1 1|1 1 1
Fritz Buchinger 25,3 205 179,7 1 11 111 1{1 1 1 1 1 05 1 1
Herbert Ruprechtshofer -66,9 236 | 302,9 1 1 2 2|1 1 1 2 111 1 2 1]os5 1[2 1)1 1 1(1 1 1
Markus Koll 31,0 185 154,0 1 1 2 1 1 1 1|1 2 1 1 1
Rupert Wychera -20,6 195 | 215,6 1)1 1 2|1 1 1 1 1 1 1 1 1 1 1 1 1
Markus Hager 40,7 205 | 164,3 1 1|1 1 1|1 1 1 1 1 1 1 1 1 1
Martin Massinger -31,1 164 195,1 1 1 1 1 1 1|1 111 1 1 1 1 1 1 1 1
Michael Weber 31,0 185 | 154,0 1 1|1 1 1 1 1 1|1 1 1 1
Erich Altmann -31,1 164 195,1 1 1 1 1 1|1 1 1 1 1|1 1 1 1 1)1 1
Bernhard Schilcher 20,1 92 71,9 1 1 1 1 1 1
Andreas Buchinger -10,5 123 133,5 1 11 11 11 1 1 1 1 1
Matthias Weber -61,7 41 102,7 1 1|1 1 1 1 1 1 1 1
Leo Gruber 20,5 41 20,5 1 1
Patrick Joksch 20,8 144 123,2 1 1 1 1 1 1 1 2 1 1 1
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e [\lartin Massinger

Franz Schattner
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